==

1(7(1 = (= COSz% 3 - }_:(—1_'_"' S x = %r
9'(x1 = O - 2cos(x) (-si¢) = 2 Sia(x) cos(x)
= Q\)\(‘L?’\)
gl(X) = 0 < X =0 Tz ) N
») —
6? =) G S
/ / ¢
, | = ; " |
G W e Tk E
_ + \ )
Man WA WhA






il L -
| A
-
6”(x) = 2cos (2x)
ﬁ"[x\ >0 = 2cos (X)) > O = &(ax) O
- _ \

e
t

/







Zecog (2x) = O







= 12x* — Qhx = lex(x-2)

0 &

2nd

1S

desiv obive Test

AC oA UiV



+ ~+ +
— - +
— ]
N——" i 0 — ~ - ; L
dec re aS\A % /l\ cizcreasd—a ]( - 1':5 Qo.:\)\%
Cei bical PEs
© S ) ©
— + 1 T
— _ + AY
\\ (
—_— A 5 —




£(x) = %" - hxg Iy, ’PO\?\ES of n cerest

flo) = 10 (o, 10)
PN = 2 - L—l(l)‘$ +10 = ¢4 (2,-6)
F() = 2- 406) +10 = -7 (2,-17]



e

Conc oV

I creaslhaz ( 3,00)
de,creaﬁ\f\%'- ('-oé, 0) 0(013)
Con ca .

Cv{u()- (—02,0)0(2,%)

C
oa Cave dOquL " (0)2_3

critical ~
pt
3
-6
\# /
. < Concaug Up

5

Cr{t'\cal "Pt.. " Local wan



gbe_? nE MarK N ’Po{nts_ S‘Cq 2. Mark {r\g\ﬂk\o/‘ ?’bg.

3 r. \‘ <
E;Z/Q L Mok~ Wert 2 onk ax 'Ca.»\_émt She Sb@f? % ( oaneck LS w

Loncave P /Q/é)udrk
CuDVUsS



